EARAZROREIERT — 2 N—XBISY —F 20215E5816H (H) 4ME1£R3H

mﬂﬁﬁ %5 R—HK (w8 | 1mEmml - |5 5) oo E
[A&4] 1 7% :3,000,000 23 :840,000 @ 33 :420,000  ~ 4 # :300,000 @ . 5 7 :240,000 M
B\ BB BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. s =EE A .08. —3-0— . — EEFSE (£R)
ilglo| No¥ET=IRR B4 =5 2((&3)3 3-3-2-1 | 38.4 1 :1:4; pens
LYK — b BiA—vELR =AREYS
8,9 s o6 | REXA 2:08.6 8-8-7-3 |37.6| — 2 498 | EBEX (£R)
] 4 If>>lb—H— 56.0 ’ (1 1/2) (+4) FHEEZ
T4 T7FyYa BiI—-Y2TFRTIR /e
- s N hBEEH : —1-1- — £H—& (£R)
315|571 EL—T— o7 s (27;(2% 2-1-1-1 | 39.1 4 <5+053) @%E
L KRKUIYRAIZX B hy—d—IL K [Ep%se ]
NPT LHER : 54— — £H—8 (£R)
4 =D Y 4 5 Pk (21.018/.29) 5-5-4-4 | 38.4 8 &5} ﬁiiﬁé%?ﬁ y
R:T5>TURZ B:7)r> N> T =G
: s 0. e S Z BiEHl (&R
51101 kyTETH0 4 4 s 2(029)3 3-3-4-6 | 39.1 3 <5+545) m(fg)Lré?W%zt%
x4y avyayy B:OSYLY T4 BENS
N ) _ AR H .09, W . — REBES (£R)
6lz|7| 31314 =T "4 & S R IR R Pl |
R:N—E>Tv— B:ZY/T1A4—Y H—NFIS—J2&Y K
> = : -9-9- - FlHZ (£R)
7lglg| T5—FrE—D— 1 o 2.(140).5 9-9-9-9 |38.9 5 (4_960) B
R:ZAN—3I TUKR—L BIqF DA RIRHS
. - FEMaLA : ~1-3- — aiske (£R)
8 3|8v95 -1 # 5 e 2.(131).1 1-1-3-6 | 41.4 6 <5+414) ke i
R:T79v 724K B:EvINnyE— TR
se_ — HHEE 1. ~7-8~ . - SiEtRe (&R
9 2 f)1—I3=Z b 4 5 &5 (2719171) 6-7-8-8 | 40.1 7 (5_(11) #?EEE
o140 By ANLIEY Pl
® I—F—&EBIERL
1Sl=3F= 3,5,(1,9),6,(2,7),4,8
23=5r= (3,5),(1,9),6,7,2,4,8
§T=5r= 5,9,3,(1,6),7,4,2,8
40—F— (5,9).4,(6,7),(1,3),2,8
[ RN
B 9 140/ 794K 4-9 140M & 4-8 190 &R 4-5-9 1,190
# B 9 1009 5-9 220 B 8-4 2401 EE 9-4-5 2,300
4 1204 4-5 630 B = 4-9 200
5 210M B H 9-4 2604

ARICOVWTRDTEEERROODE. TR LIV,



